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1. Introduction
SIB2 acquisition time is necessary for designing eMTC test cases. This paper provides the SIB2 simulation assumption of eMTC for studying SIB2 acquisition time. WF on MIB acquisition time is also approved.
 This paper provides simulation results for MIB, SIB1 and SIB2.
2. Simulation assumption for SIB2 acquisition time
The simulation assumption is in the table 1 for SIB2 based on agreed simulation assumption. 
Table 1
SIB2 simulation assumption
	
	Test 1
	Test 2

	Parameters
	CE Mode A
	CE Mode B

	Target SNR [dB]
	-6dB
	-15dB

	System bandwidth
	10MHz
	10MHz

	PDSCH transmission mode
	TM9 single layer
	TM2

	MCS
	QPSK 1/3
	QPSK 1/3

	Allocated resource blocks
	6
	6

	TBS
	152
	152

	Propagation condition
	EPA5
AWGN

ETU30
	EPA1
AWGN

ETU1

	Antenna configuration and correlation matrix
	1x1 
	1x1


	si-WindowLength
	40ms
	40ms

	si-RepetitionPattern
	everyRF
	everyRF

	OFDM starting symbol (startSymbolLC)
	2
	2

	UE Frequency error [Hz]
	100
	100


SIB2 acquisition delay = 90% and 99% of the number of frames required to successfully decode the SIB2
Table 1: acquisition time for MIB with 99% confidence

	Duplex mode
	Channel
	Acquisition time
	Repetition
	SNR

	FDD
	EPA1
	960 ms (24)
	Repetition on
	-12dB

	FDD
	EPA1
	960 ms (24)
	Repetition off
	-8dB

	TDD 3MHz case
	EPA1
	960 ms (24)
	Repetition on
	-8dB


The MIB repetition would be 24 for CEModeB and SNR would be -12dB when repetition on. When repetition off, the SNR would be -8dB.

For TDD 3MHz case, only limited number of repetition is available for MIB. The MIB acquisition time will further degraded to -8dB when repetition on.
Table 2: acquisition time for SIB1with 90% confidence with 16 repetitions per 80ms

	Channel
	Acquisition time (number of 80ms)
	SNR

	ETU1
	240ms
	-13dB

	EPA1
	240ms 
	-13dB

	AWGN
	240ms
	-16.5dB

	AWGN
	160ms 
	-13 dB


Table 3: acquisition time for SIB2 with 99% confidence
	Channel
	Acquisition time
	SNR

	ETU1
	640 ms
	-13dB

	EPA1
	640 ms
	-13dB

	AWGN
	640 ms
	-16.5dB


For test cases require MIB, SIB1 and SIB2 reading time, the acquisition time should be counted in order to pass the test cases.
Obseravtion1: MIB+SIB1+SIB2=1840 ms for SNR=-12dB when repetition on for FDD
Obseravtion2: MIB acquisition time is 960ms for SNR=-12dB when repetition on for FDD.

Proposal: eMTC requirements that need SI reading time are list below

For RRC connection release with redirection, time to acquire the MIB and all the relevant SIBs of the target cell is needed, which is 1840ms for SNR=-12dB
For RRC reselection, time to acquire the MIB and all the relevant SIBs of the target cell is needed, , which is 1840ms for SNR=-12dB

For handover, MIB acquisition time is needed, which is 960msms

For re-establishment, time to acquire the MIB and all the relevant SIBs of the target cell is needed, which is 1840ms for SNR=-12dB
For Interruption for paging reception, time acquire the MIB and all the relevant SIBs of the target cell is needed, which is 1840ms for SNR=-12dB
For CGI reading, time acquire the MIB and SIB1 of the target cell is needed, which is 1200ms for SNR=-12dB. 
3. Conclusion
This paper provides the SI acquisition delay based on table 1,2,3.
Obseravtion1: MIB+SIB1+SIB2=1840 ms for SNR=-12dB when repetition on for FDD
Obseravtion2: MIB acquisition time is 960ms for SNR=-12dB when repetition on for FDD.
Proposal: eMTC requirements that need SI reading time are list below:
1. For RRC connection release with redirection, time to acquire the MIB and all the relevant SIBs of the target cell is needed, which is 1840ms for SNR=-12dB

2. For RRC reselection, time to acquire the MIB and all the relevant SIBs of the target cell is needed, , which is 1840ms for SNR=-12dB

3. For handover, MIB acquisition time is needed, which is 960msms

4. For re-establishment, time to acquire the MIB and all the relevant SIBs of the target cell is needed, which is 1840ms for SNR=-12dB

5. For Interruption for paging reception, time acquire the MIB and all the relevant SIBs of the target cell is needed, which is 1840ms for SNR=-12dB

6. For CGI reading, time acquire the MIB and SIB1 of the target cell is needed, which is 1200ms for SNR=-12dB. 
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